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Identify the following functions.
X Y X Y X Y
1 |8 1 |8 - 1 |8
2 11 2 i5 i 2 24 >
3 14 3 34 (11 3 72 >
4 17 4 71 5 4 216 '
1'N e | Y E 1; {
Find the recursig/e and explicit equation given the following table
X O|yOU {“s’ i 3 !
1 14 4,07 Y
2 10 \d B \
3 18 {£°)72
4 28 [T 9 70\
t ! \ ) /
A) Factor 3x3 —81 .
2 'r > S 7 g \ ’
B) State how many realroots; then find all roots.
b - o ~ “- \ ‘\
| ~ )/
e —s,"
* Fill'in the bIankfor all of the followmg gLt = 3 : » :
a. fx)=: -2 )\ b. f(x)=3-x7 R c. f(x)=3x% +2x

x> 00 flx) > ~0

x> f() = 4 x = =00 f(x) > CC

x> —oo f(x)—>

d fx)=2*+1 ; I e.
) % .
x - oo f(x) - 5] 4 N2 2 x—o  f(x)-
x - —oo f(x) - @’ . X o~ f(x) = —cx
-0t




5. ldentify all zeros and factors.
2 -

1 22,00
-2 * hocducs

6. Given f(x) = x3+2x%2 —3x+5and g(x) = —2x2% + 6x — 3.
a. Find f(x) — g(x) I
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Xs't- Zx&—Bx S ~~@XZ+(Q‘X -—3>

'3, 2 ¢ R
JX EHX -9x+%(
b. Find f(x)asg(x) - s

n’\(.\h()') i
L;\ e 2x2 3R x—?)(Zx +ox = 3)
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= Zx ““\(/)( - %X (\jﬁ. '2)( (Q_}}Q_Q. (D\: 3 l%‘(&}-qx

I

( = -2X fﬂ-Z_x vlbx —3‘1)« e 3Ix -6 ] *"Oxz+ Blise 1D
fai

7. Prove that x =2 is a root of x3 — 6x% — 4x + 24. —
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